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1.Your budget constraint for goods 4 and B is 104+2B=80. You are
currently consuming 4 units of A4 and 20 units of B in order to get 3
more units of A, how many units of B would you have to give up? (A)3
B9 (©12 (D15 (E)None of the above. (85* 181 &)
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2.1f all prices fall by 5 percent and money income remains constant, the new
budget line will have: (A)a flatter slope (B)a positive slope (C)a steeper
slope (D)the same slope. (93224 £ )
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3. Evaluate the truthfulness of the following statements.
I All points to the interior of the budget constraint are affordable.

I All points that lie on the budget constraint cost the same amount of

money.
(A)Both I and I are false (B)Both I and I are true (C)I is true;
I isfalse (D)1 isfalse; II is true. (94412 %)
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4.A person can buy 9 units of X and 10 units of Y with her total income.
Or she can buy 3 units of X and 12 units of Y with her total income. The
price of X is $8. What is her total income? (93¢ &gl &)
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